Cylinder-koordinater L

[wzrcose, y =rsinf, z=z, dV:rdzdrdHJ

Simpelt omrade:

T=A(r,0,z):00 <0<02,11(0) <r <ref),z1(r,0) < z < 29(r,0)}

Sa geelder

//Tf(x,y,Z)dV

92 T2 (9) Z9 (?“,9)
= / / / f(rcos@,rsinf, z)rdz dr df
91 1 (9) Z1 (?“,9)
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Sfeeriske-koordinater

/x = psing@cosf \

y = psingsinf
Z = pcoso
\dV = p’singdpdedy/




Sfeeriske-koordinater

Simpelt omrade:

T =A{(p,0,0) : 61 <0 < 09,01 << o,
p1(¢,0) < p < pa(0,0)}.

Sa geelder

// fla,y, 2)dV =

02 p2(9,0)
/ f(psin ¢ cos B, psin ¢sin b, pcos ¢)p* sin ¢ dp de db
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